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e Please check that this question paper contains 8 printed pages.

e (Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

o Please check that this question paper contains 30 questions.
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attempting it.

e 15 minutes time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
students will read the question paper only and will not write any answer on
the answer-book during this period.
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Answers to questions carrying 1 mark may be from one word to one
sentence.

Answers to questions carrying 3 marks may be from 50 — 75 words.
Answers to questions carrying 4 — 5 marks may be about 150 words.
Answers to questions carrying 6 marks may be about 200 words.

Attempt all parts of a question together.

Y o 3T T kT AT T S TS o e Ug FHatdr & fou 3ot
BT R |

Name the level of management that is responsible for the welfare and
survival of the organisation.

I8 FT shgl ST & foh saraEiRes gatey s1fafyea gar @ 2

Why is it said that business environment is uncertain ?

“Tgat & ug TAfva™ S o6 o1 T 8 a1 hE T 8 UG h SMURYA BT
HETH g |’ 38 HR H A FART |

‘Deciding in advance what to do and how to do is one of the basic
management functions.” Give the meaning of this function.

IS & 30 YR 1 919 §d18Y S A O % ®9 H Bl 8, =
ue fafdry foem it oMk fAfma st 3 R e aueensti & wmam § g
A 2 |

Name the type of plan which is in the form of general statements, that

guides thinking towards a particular direction and helps in solving
routine problems.
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Distinguish between functional structure and divisional structure on the
basis of ‘formation’.

‘SNy=iies T 9§ 9T ST 3 ?

What is meant by ‘formal organisation’ ?

o~

FfFeRtoT fohe TR U= 1 SRl A8 1@ A9 § g9 Ll & ? Sg@
HIT |

How does staffing improve job satisfaction and morale of employees ?
State.

e fspam =1 8 IR AT B 2 3g@ i |

How does directing initiate action ? State.

N ffa TicaTe & &9 § ‘FHER g9 % hIs ¢ 3CEWT ST |

Give any two examples of ‘Employee Recognition’ as a non-financial
incentive.

o <A1 ufsean 1 “stuere g e @ w1 AR B 2

What is meant by ‘Management by Exception’ in the process of
controlling ?

fh8 TR o 3cqTal W ISI Torg =1 ST fohalm ST & 2
On which type of products is ISI mark used ?

‘IUMTHT T Teh JHR 8 T ATH HTT qAT Sa93d Ueh TS STeTd ITHTR
CERESINY

3T 3fgRaa ‘SAfiepr’ # IuWAT &1 fhT TR & FH 6 ATEWRAT 8, 3T
I |

‘The consumer has a right to acquire knowledge and to be a well informed
consumer throughout life.’

State what type of knowledge is required by the consumer in the above
stated ‘Right’.

3 P.T.O.
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(b) Toredl <1 Ul ! TEATHT S HFAHT TS Sl ARG T ATad 8 |

Pawan is working as a ‘Production Manager’ in CFL Ltd. engaged in
manufacturing of CFL bulbs. There is no class-conflict between the
management and workers. The working conditions are very good. The
company is earning huge profits. As a policy matter, management is
sharing the gains with the workers because they believe that prosperity
of the company cannot exist for a long time without the prosperity of the
employees.

(a)  State the principle of management described in the above para.

(b)  Identify any two values which the company wants to communicate
to the society.
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Telco Ltd. is manufacturing files and folders from the old clothes to
discourage use of plastic files and folers. For this they employ people from
nearby villages where very less job opportunities are available. An
employee, Harish, designed a plan for the cost reduction but it was not
welcomed by the production manager. Another employee gave some
suggestion for improvement in design, but it was also not appreciated by
the production manager.

(a)  State the principle of management described in the above para.

(b)  Identify any two values that the company wants to communicate to
the society.
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‘Wealth-maximisation’ is the primary objective of financial management.
Explain.

16. ‘Faw fAuiw’ wa ‘arrs foi w1 31ef wqmsu | 3

Give the meaning of ‘Investment decision’ and ‘Dividend decision’.

17. gl ST9R o FefaRaa Jusi 1 319 Saq1se 3
(S RS I I RE R R
(i) frety g |
Give the meaning of the following money market instruments :

(i)  Treasury Bill; and
(ii)  Call Money.

18. wfe 31y dd-31afy & fow T Tt 3TH =18 & a1 39 Tk {dshd &1 s 781
A MUY Th TFG hl SAed 5 || fouuFehdl g M H A T5 HEIN
qohileh ol TEATHT | 3H TEINU debrleh hl fehral @l faRIwamet &1 Wt 3g@
SHINT | 3

“You don’t close a sale, you open a relationship, if you want to build a

long-term successful enterprise.’” Identify the communication tool used by
the marketer. State any two features of this communication tool.

19. A= hl forgdl =R famwareti o1 aufa hifso | 4

Explain any four characteristics of coordination.

20. ‘UIHN U YN W GCHRT Aifad § IRad o hRUT A iHd &9 o 9
3k AT 3T T8 8 |’ UH Tohegl o) 9itadi sl dweisy | 4
‘The Indian corporate sector has come face-to-face with several challenges

due to government policy changes in business and industry. Explain any
four such changes.

o N

21. TS fFE TR ‘TEar 3cad AT B qAT TIATCHSAl i HH Ll & ?
BEEIE 4

How does planning ‘Lead to rigidity’ and ‘Reduce creativity’ ? Explain.
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What is meant by ‘Consumer Protection’ ? Also state how consumer
protection is important from the point of view of consumers.

Teh T3 o foru fsreror o ol o1 3g@ HIfV |

State the benefits of training to the organisation.

T Y9y 1 T AR FE 7 || 38 HAT HI fhedl urd fogetl i wEEd
T gueTsy |

‘Controlling is an indispensable function of management.” Explain this
statement with the help of any five points.

freferfiad & STam o St S 3 gg1 IR | S HINT
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(i) e,

(i) AT,

(v) fafy; qen
v) g |

Differentiate between ‘Capital Market’ and ‘Money Market’ on the
following basis :

1) Expected Return;
(il)  Security;

(iii)  Liquidity;

(iv)  Duration; and

v) Instruments.
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There are a number of factors that affect the fixation of price of a product.
State any five such factors.
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Besides ‘Effective management’ and ‘Employee development’ delegation
helps the organisation in different ways. Explain any four such ways.

OR

‘Decentralisation is an important philosophy that implies selective
dispersal of authority.” In the light of this statement, explain any four
points of importance of decentralisation.

28. ‘Torefl Teenm & O woioEs @1 HE dun e T Wewqul @ ifh 98
TCIE 9 H AR o WY ST BI 2 Tk 3T YU 1 HEd TR FR
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TUaT
Tt YT hl AR STe3T h 9uiH hIfT |

‘The functions and performance of the supervisor are vital to an
organisation because he is directly related with the workers whereas
other managers have no direct touch with bottom level workers.” In the
light of this statement, explain any four functions of a supervisor.

OR

Describe personal barriers to effective communication.
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Explain how the following factors affect the working capital requirements
of a business :

(1) Inflation;

(i1)  Business cycle;

(iii) Level of competition; and
(iv)  Nature of business.

OR

Explain any four factors affecting the choice of capital structure of a
company.
ITATGH T TaTeTl o Yaad H T Hueh <l fHehT 1 FUF hIfT |

HAAAT

oo fiy o =R Ae@qul ai ! GHEST |

Describe the role of ‘Public Relations’ in the promotion of products and
services.

OR

Explain the four important elements of marketing mix.



